Answers for review 1 – 17

1.  Circle  
[image: image1.wmf](

)

9

1

1

3

1

2

2

=

+

+

÷

ø

ö

ç

è

æ

+

y

x




2.  Ellipse  
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3.  Hyperbola  
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4.  Hyperbola 
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5.  Ellipse  
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6.  Parabola   
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7.  
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8.  
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9.  
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10.  
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11.  x2 – y2 = 1





12.  
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13.  
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14.  
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II.  1)  S.F.  (x + 7)2 + (y + 1)2  = 10

C(-7,-1)

r = 
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      2)  S.F.  (x – 5)2 + (y + 4)2  = 25

C(5, -4)

r = 5

      3)  V.F.  y = (x + 2)2 -1

up   V(-2,-1)    x = -2     F 
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Dir.  y = 
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     4)  V.F.  x = (y – 2)2 – 9
Right
V(-9,2)
y = 2
    F 
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    5)  V.F.  
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    Left
V(-3,-1)
y = -1

F(-4,-1)  Dir.  x = -2
    6)  S.F.  
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   C (0,-3)
F( 
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2, -3)
CoVert (0,-4), (0, -2)
    7)  S.F.  
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   C(3,1)   F ( 
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V(3,7), (3,-5)  CoV  (4,1), (2, 1)
8) S.F.  
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  C(4,-2)  F (
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, -2)  V(9,-2) , (-1,-2) CoV (4,-3), (4,-1)
   9) S.F.  
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   C(1,-4)   F (
[image: image28.wmf]5

4

1

±

,-4)   V (9,-4),V (-7,-4)  y + 4=
[image: image29.wmf]2

1

±

(x – 1)
  10)  S.F. 
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   C(1,2)  F ( 1, 
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